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A F (1) T # fli # (M) B NEE (1)

YRR FH A 21,686,500 19,715,000 (A) 1,971,500
YAl G R 22,061,600 20,056,000 (B) 2,005,600
IR S 20,317,000 18,470,000 (C) 1,847,000
YA S SR £ 20,667,900 (F) 18,789,000 (D) 1,878,900 (E)

YRR 350,900 319,000 31,900

G (B) X (C) =+ (A)=(D) < (D) IF TRV T>

(D) X0. 1=(E)
(D) + (E) = (F)




4 HEH XA L kg L5 No. 1
. AR AT B R AT HAL o L
7 . BRI B . i Y I
ROOH LT W AN e | MR ONAT W G| EOIMBER i =
[ERERIE X<
I| Bk L5 = 6,247,223 Y 6,469,417 222194 HE%E
M| ST = 5,076,055 = 5,106,590 30,535 %A
M| ExGEE L = 1,743,847 = 1,743,847 0
HE T HEE 13,067,125 13,319,854 252,729 HE%H
Him g
I ks = 916,629 = 924,856 8,227 iH%H
| HGEHE iy 3,248,560 = 3,290,544 41,984 HE%H
| —fEsEE = 2,483,175 = 2,521,569 38,394 HE%H
Ham 6,648,364 6,736,969 88,605 HE%H
&5 19,715,489 20,056,823 341,334 %A
T EAMmkS T-H AR50 4 19,715,000 20,056,000 341,000 H&%H
VA B B S AH 4 %R 1,971,500 2,005,600 34,100 HE%E
wAE (rEE) 21,686,500 22,061,600 375,100 HE&%H




4 HEH X AT AL g L5 No. 2
. a2 HRI L H % o L
%’ = ~7 _L‘I:IX;J‘I“A\L‘, H N NY; _._uxn %, = 5 E\
r W F | gm ww wn | ew | mE wer wm | em | 0 WP WS
[ |/ TTH
1 |[fErEes Bakln L3 1 =K 3,189,880 1 =X 3,191,780 1,900 H4%H
2 |HE/KERE L5 1 KX 575,860 1 =X 632,830 56,970 HE%H
3 |HEKER M L5 1 =K 1,527,440 1 = 1,685,930 158,490 H4%H
4 |HKGERE T 1 =K 188,602 1 K 188,602 0
5 |ZERGAFNER I g 1 = 2,375 1 = 2,375 0
6 |HiETH 1 K 763,066 1 =X 767,900 4,834 HE%H
&3 6,247,223 6,469,417 222,194 H4%H




% B HH ST A L g T No. 3
BN =T ZIL=L N B 42
#oH BOE | o W e | EE O W e | S
1 A Eax iy L
ERENCE B AET 7 M 104,000 728,000 7 104,000 728,000 0
ESEINEE % BT 1 #A 141,000 141,000 1 # 141,000 141,000 0
/IMERS PRI 3 # 95,000 285,000 3 # 95,000 285,000 0
Ve ae EEAZER N 2 H 47,200 94,400 2 H# 47,200 94,400 0
Yo 25 O =L K, R 2 # 48,300 96,600 2 #H 48,300 96,600 0
b BEMT, TR BRHEK 2 # 44,600 89,200 2 H 44,600 89,200 0
Vo 28 % REOHTIN, Bk, Bk 1 #H 43,500 43,500 1 43,500 43,500 0
FUeds % FHOMATA, Btk Bedk 1 38,900 38,900 1 38,900 38,900 0
bRl IRHEAK 2 58,600 117,200 1 A 58,600 58,600 -58,600 JHEE
FARNAA T 1 % 431,000 431,000 1 431,000 431,000 0
H#EhK A T ARG 138 3 A 39,900 119,700 3 i 39,900 119,700 0
H @A T A aRe 23 2 A 67,700 135,400 2 f# 67,700 135,400 0
R —F =7 2 {# 40,000 80,000 2 A 40,000 80,000 0
fHE7)—F— 8 2,760 22,080 8 A 2,760 22,080 0
N 1 X 767,900 1 =X 767,900 0
bRl BEHEK 0 0 1 A 60,500 60,500 60,500 H#4%H
N 3,189,880 3,191,780 1,900 %8




4 HEH AT A L kg L5 No. 4
. a2 HRI XRT A H % o e
7 L G I, i Y |1
ROH LI WA e | B WE W Ggp | AESIHBER i 5
2 ke KR L5
T B L AR U (L = /L A% Mtk (77 20A HIVP 31 m 2,460 76,260 31 m 2,460 76,260 0
T P R AU AL = LA Mebkas - (7 25A HIVP 9 m 3,020 27,180 9 m 3,020 27,180 0
T B L AR U (L = /L A% Mtk (77 30A HIVP 14 m 3,280 45,920 14 m 3,280 45,920 0
T T AU AL = LA Mebkas - (97 40A HIVP 21 m 4,260 89,460 21 m 4,260 89,460 0
B T8¢ 1 X 133,110 1 =K 190,080 56,970 E%H
R T= IRV 176,120 1 =X 176,120 0
REERmI R 1 =K 27,810 1 = 27,810 0
ING 575,860 632,830 56,970 HE%E




% Fr HEH ST RA L g T No. 5
EIEIN S ZIL=L 7N B 44
#H BOE | g W | mE W W e | SR
3 |BEAKERAH L

ik — Jg i HghRE BT 40A VP 4 m 5,520 22,080 4 m 5,520 22,080 0
MK e g - FEFT 50A VP 7 m 6,950 48,650 7 m 6,950 48,650 0
ik — i HghRE BT 65A VP 3 m 8,920 26,760 3 m 8,920 26,760 0
[P =k e - EEFT T5A VP 11 m 10,520 115,720 11 m 10,520 115,720 0
ik — Jg i HehkeE - (57 100A VP 9 m 14,040 126,360 9 m 14,040 126,360 0
WE R =& bR [T 40A VP 10 m 3,990 39,900 10 m 3,990 39,900 0
WE RV = V4 bR (7T 50A VP 22 m 5,140 113,080 22 m 5,140 113,080 0
WE RV = V& HghkER - FEAT 65A VP 12 m 6,530 78,360 12 m 6,530 78,360 0
WE RV L = V4 bR [T 75A VP 21 m 7,880 165,480 21 m 7,880 165,480 0
R = L5 Mtk (77 100A VP 22 m 10,390 228,580 22 m 10,390 228,580 0
fRIERL COCL-P65 fEfH &t 1 19,990 99,950 5 & 19,990 99,950 0
IR bR COA 100 fR$# & T & 12,940 64,700 5 i 12,940 64,700 0

W LE 1 K 358,830 1 K 517,320 158,490 H4%H
B & B e 2 1 X 38,990 JRIE=V 38,990 0

/R 1,527,440 1,685,930 158,490 H4%H




% FEFH T L & T No. 8
‘ Xt B L H % st L
A WOR | me wr win | bW | R W wm  em | oTHEL WS
6 |fiE LS
MET=HE RS BBt 2y 751,481 = 751,856 375 HE9%H
E/LHIVIE R = 11,585 = 16,044 4,459 E%H
/NEF 763,066 767,900 4,834 HE%E




& ERXFTA LREIE No. 2
h = -+ S = L . 23
g i i B OBf BE 248 B Bf BE o |ESERE HE

I |BEIE
1 |EERGEE T 1 =X 172,561 1= 172,561 0
2 |NEEE T 1 &K 2,833,306 1= 2,863,841 30,535 HE%H
3 |BEsETE 1 = 39,949 1= 39,949 0
4 |z=vrRUEomIE 1 &K 1,676,631 1= 1,676,631 0
5 |05 1 &K 353,608 1= 353,608 0

&t 5,076,055 5,106,590 30,535 HI%A




& W EHEXFT M LBETISE No. 4
& L. 2 | g8 s ﬁwﬁﬁ” ¢Em | mE B Ewgif e |ESEEE RE
2 |NEREISE

BA 1 PA$H o gs 300X 700FE 8 AT 6,640 53,120 8 f&i AT 6,640 53,120 0

BA 1 PASH LRI AR 800 X 900FLE 1| f&pr 15,900 15,900 1 f&HT 15,900 15,900 0

YD RN E 0.4 m3 580 232 0.4 m3 580 232 0

HRL F = ER 0.4 m3 840 336 0.4 m3 840 336 0

PRF g A 4504 ATV Pedt oy 1 f&Ar 17,400 17,400 1 f&pT 17,400 17,400 0

K BibL BERR 2 AV if 25.4  m2 2,100 53,340 25.4 m2 2,100 53,340 0

R EAZNVITHZ =13 &7 12.8 m2 1,600 20,480 12.8 m2 1,600 20,480 0

R |V aT iz T T VAV =28 6.9 m2 2,160 14,904 6.9 m2 2,160 14,904 0

K EAZLITZ (=18 ka7 wATLRULZF 0 10.8 1 m2 1,440 15,552 10.8 m2 1,440 15,552 0

K A TLRU 7% =10 10.8  m2 1,640 17,712 10.8 m2 1,640 17,712 0

IR BB = AP — M £=2 38.5  m?2 4,650 179,025 38.5 m2 4,650 179,025 0

=L ik H=60 62.2 m 310 19,282] 622 m 310 19,282 0

E=/VIRZ AL t=2 2.7 m2 2,630 7,101 2.7 m2 2,630 7,101 0

BRI T B OE | 657 W2200 X H2050 LSD 1 T 11,200 11,200 1 f&fT 11,200 11,200 0

WX ESHAUEE Nl 65% 20.9  m2 1,640 34,276]  20.9 m2 1,640 34,276 0

EEEARRLEE N 507 (A= 7 F i) 7.9 m2 1,580 12,482 8.6 m2 1,580 13,588 1,106 H4%E

BERTT R TAEL 4504 BR QAR AL 1 &7 4,870 4,870 1 f&Pr 4,870 4,870 0

BE MK A t=12 THIBRY 16.5  m2 2,070 34,155 17.20 m?2 2,070 35,604 1,449 %8

BE A7IACBERRRE  t=3 132 m2 11,400 1,504,800 133 m2 11,400 1,516,200 11,400 H4%H

BE o9k - t=12.5 17.0  m2 970 16,490 17.0 m2 970 16,490 0

BE JNOEAZLIE 6.4 m 2,560 16,384 6.4 m 2,560 16,384 0

BE S2E)VLSVEE T L T AL — R T H#H 5.5 m2 4,400 24,200 5.5 m2 4,400 24,200 0

BE ALY =20 TA =27 TEDR 2.4 m2 3,280 7,872 2.4 m2 3,280 7,872 0
R_—=F 2,081,113 2,095,068 13,955 Ha%H




& EHEXFT M LBETISE No. 5
% w4 B | Lo . DHAZH . _ - EFERE - |EImEE @z
HE B B iy ®%5 HE Hf B iy &% =
2 |NEREISE
(m5%)
K EoZIR—F 1=9.5 9.7 m2 960 9,312 9.7 m2 960 9,312 0
K AL SR —F t=9.5 49.0  m2 1,190 58,310| 49.0 m2 1,190 58,310 0
I WEESIHR—F t=9.5 YERBR 9.7 m2 1,600 15,520 9.7 m2 1,600 15,520 0
KA A RS T 197 14.8  m2 1,180 17,464 14.8 m2 1,180 17,464 0
EIDEES 7 89.1 m 600 53,460 89.1 m 600 53,460 0
RKIHF R T 4504 BA D AR 14 f&pT 4,870 68,180 14 T 4,870 68,180 0
RIFTHIBE O AR KRR A AfisR 30044 5 AT 1,140 5,700 5 AT 1,140 5,700 0
HE AEREA -25 D=200 0 0.6 m 24,900 14,940 14,940 Ha%H
HiH AWEAHA 25 D=170 6.0 m 20,200 121,200 6.0 m 20,200 121,200 0
HA AEKREA -25 D=130 4.7 m 16,800 78,960 4.7 m 16,800 78,960 0
15 A t=7 W=600 2.5 m 21,600 54,000 2.5 m 21,600 54,000 0
U7 B MS-2 10X10 145 m 400 5,800 18.6 m 400 7,440 1,640 H&%H
ULy BmAMEY . MS-2 5X10  PUJ 73 m 400 2,920 7.3 m 400 2,920 0
U7 EBHEEY MS-2 10X10 4.8 m 400 1,920 48 m 400 1,920 0
LSDI B ik H PSR A5 WI00 X H1975 FIATS 1| & 258,000 258,000 1 AT 258,000 258,000 0
SRR AT A t4 0.2mLLF 0.1  m2 5,290 529 0.1 m2 5,290 529 0
HIA — )b SR-1 10X 10 34 m 270 918 34 m 270 918 0
A= 752,193 768,773 16,580 HH%H
/NG 2,833,306 2,863,841 30,535 H4%H




